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1. Which of the following sectors in
Karnataka’s State Income has
recorded the highest annual growth
at 2004 — 05 prices in 2010 —11 ?

(1) Manufacturing

(2) Trade, hotels, transport, storage
and communications

(3) Finances, insurance, real estate
and business services

(4) Community and personal services
2. The Wholesale Price Index for 33
agricultural commodities in
Karnataka is constructed (at base
year 1981 — 82) by the
(1) Agriculture Department,
Government of Karnataka

(2) Central Statistical Office, Union
Ministry of  Statistics and
Programme Implementation

(3) Office of Economic Adviser to the
Government of India, Ministry of
Commerce and Industry

(4) Directorate of Economics and
Statistics, Planning Department,
Government of Karnataka

3. Tax devolution from the Central
Government is a part of Karnataka
State’s
(1) Non-tax revenues
(2) Capital receipts
(3) Own Tax revenues
(4) Revenue receipts

125-XPP-BOAA

(3—-A)

Karnataka State Bio Diversity Board
is a wing of the Department of

(1) Agriculture and Horticulture
(2) Bio-Technology
(3) Forest, Ecology and Environment

(4) Animal Husbandry

During 2008 — 09, the largest area in
Karnataka was irrigated by

(1) Canals
(2) Tube/Bore wells
(3) Tanks
(4) Wells

According to the Agricultural Census
of Karnataka in 2005 — 06, a farmer
with holding size of 2 to 4 hectares

is called

(1) Small farmer
(2) Marginal farmer
(3) Medium farmer

(4) Semi-medium farmer
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By education levels, the highest
percent of persons in Karnataka’s
labour force in 2004 — 05 belonged to

(1) Illiterates

(2) Primary and below

(3) Middle school

(4) Secondary and Higher Secondary
The highest value of exports from

Karnataka in 2009 - 10
contributed by

was

(1) Coffee products and readymade

garments

(2) Electronics, computer software

and bio-technology

(3) Silk products, gem and jewellery

Leather marine

products and spices

(4) products,

The largest sector of Karnataka’s
consumption of electricity in
2010 - 11 was

(1) Industries
(2) Irrigation pump sets
(3) Domestic lighting and AEH

(4) Commercial lighting

10.

1.

12.

(6-A)

Electricity distribution companies in
Karnataka are abbreviated by

(1) BESCOM, CESCOM, MESCM,

HESCOM AND GESCOM

(2) BESCOM, CESOM, MESCOM,

HESCOM AND GESCOM

(3) BESCOM, CESCOM, MESCOM,

HECOM AND GESCOM

(4) BESCOM, CESCOM, MESCOM,

HESCOM AND GESCOM

Karnataka’s road length (in kms) in
2009 — 10 was longest by
(1) National highways

State highways

(3) Major  district roads and
municipal roads
(4) Village connectivity roads

Over the period 2001 — 02 to
2009 — 10, out of school children
(7 to 14 years) in Karnataka

(1) declined from 10-22 lakh to
0-35 lakh

increased from 0-35 lakh to
10-22 lakh

(2)

(3) remained constant at 10-22 lakh

declined from 10-22 lakh in
2001 - 02 to 0-:35 lakh in
2005 — 06 but increased to
5 lakhs in 2009 — 10

(4)
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18. Match the performance of Karnataka
in the following indicators of family
welfare programme in 2009.

Indicators Performance
in 2009
A. Crude death 1. 653
rate (per 1000
population)
B. Total fertility 2. 72
rate
C. Infant mortality 3. 410
rate
D. Life expectancy 4. 2.0
at birth in
years (persons)
A B C D
(1) 4 3 1
(2) 4 3 ¥ 2
(3) 1 2 3 4
(4) 4 3 2 1

14. Over the period 2008 - 09 to
2010 - 11, the highest wage
employment under different
programmes was generated in
Karnataka by
(1) Major, medium and minor

irrigation and flood control
(2) CADA and Watershed
Development
(3) ., Roads and bridges
(4) Buildings
125-XPP-BOAA

15.

16.

(7-A)

Based on the methodology proposed
by the Report of the Expert Group to
Review the Methodology for Estimate
of Poverty, the percentage of
Karnataka’s population below the
poverty in 2004 — 05 was equal to

(1) 41-8 per cent in rural Karnataka;
257 per cent in urban
Karnataka; 37-2 per cent in all
Karnataka

(2) 32:3 per cent in rural Karnataka;

23-4 per cent in urban
Karnataka; 29-9 per cent in all
Karnataka

(3) 37:5 per cent in rural Karnataka;
259 per cent in urban
Karnataka; 33-4 per cent in all
Karnataka

(4) 47-9 per cent in rural Karnataka;

256 per cent in urban
Karnataka; 38:1 per cent in all
Karnataka

Decentralized planning in Karnataka
State comprises

(1) 5628 Gram Panchayats, 176
Taluk Panchayats and 30 Zilla
Panchayats

(2) 5727 Gram Panchayats, 175
Taluk Panchayats and 29 Zilla
Panchayats

(83) 5627 Gram Panchayats, 176
Taluk Panchayats and 30 Zilla
Panchayats

(4) 5628 Gram Panchayats, 176
Taluk Panchayats and 31 Zilla

Panchayats
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Following acute power shortage, the
State Govt. invoked following section
of Electricity Act 2003 to direct all
power generators to supply power
only to the State grid.

(1) Section I

(2) Section II
(3) Section III
(4) Section IV

BELUR Declaration
refers to

in Karnataka

(1) development of historical places
of Halebidu and Beluru

development of panchayat raj
institutions

(2)

(3) declaration of Govt. along with
members of PRIs regarding

tourism

declaration made in a convention
by Govt. at BELUR Gram
Panchayat in Dharwad district
regarding the promotion of PRIs

(4)

Which of the following ranks is
assigned to Karnataka in Industrial
development in India ?

(1) Third

(2) Fifth

(3) Seventh

(4) Sixth

As per KHDR-2005 the two
districts with lowest Human

Development Index are
(1) Bidar and Bijapur

(2) Bidar and Raichur

(3) Gulbarga and Raichur
(4) Bidar and Gulbarga

21.

22.

23.

(9-A)

The
programme to

of

improve

Karnataka
the
livelihoods of the farmers practising

Government

dry land farming by increasing the

agricultural productivity in the

rainfed agriculture is called

(1) Rashtriya Krishi Vikas Yojana

(2) Karnataka Seeds Mission
(3) Bhoo Chetana

(4) Watershed Development

Programme

Under the National Ambient Air
Quality = Monitoring  Programme,
Bangalore city is not monitored for

(1) Suspended Particulate Matter

(2) Respirable Suspended Particulate
Matter

(3) Sulphur Dioxide

(4) Oxides and Nitrogen

The of

Government of Karnataka covers the

current industry policy

period

(1) 2008 to 2013
(2) 2009 to 2014
(3) 2010 to 2015

(4) 2011 to 2016
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Karnataka Udyog Mitra is the single
window agency for :

(1) clearance of investment projects

in the State upto ¥ 50 crore
(2)

clearance of foreign investment
projects above ¥ 50 crore

promotion of industrial
employment in backward areas

of

(3)

(4) implementation Special

Economic Zones

Under the new initiatives of the
Department of Tourism, promotion of
tourism for Bangalore is aimed at

(1)
(2)
(3)

Heli tourism and Curies tourism
Wellness tourism

Adventure tourism and Caravan
tourism

(4) Mega tourism

Pancha Soulabhya under the Sarva
Shiksha Abhiyan refers to
provisioning of

play
and

(1) drinking water, toilets,
grounds, compound wall
school building

(2) toilets,

and

drinking water,
electricity, wall
building

ramps,
school
(3) library, common toilets, ramps,
electricity, wall and girls toilets

drinking water, toilets,
scholarships, electricity, wall and
school building

(4)

27.

28.

29.

(11-A)

Under Suvarna Arogya Chaitanya
Programme, all school going children
from 1% to 10" standard are
medically examined in

(1)
(2)
(3)
(4)

Government schools
Aided schools
Government and aided schools

Government, aided and unaided
schools

Reduction in maternal and infant
mortality rate as well as to increase
the institutional deliveries of BPL
and SC/ST families are the major
objectives of

(1)
(2)

Janani Suraksha Yojana

Thayibhagya and Thayi
Plus

Arogya Kavacha
Madilu

Bhagya

(3)
(4)

Since 1°' April 2008, the Mahatma
Gandhi National Rural Employment
Guarantee Scheme in Karnataka has
been extended to

(1) Five districts of northern
Karnataka

(2) Six districts of southern
Karnataka

(3) Fifteen districts of northern and

southern Karnataka

(4) All districts in the State
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30. Which of the following is not related
to the Rashtriya Swasthya Bima
Yojana ?

(1) Implemented during 2009 — 10 in
Bangalore Rural, Dakshina
Kannada, Belgaum, Mysore and
Shimoga districts

(2) Contribution of Government of
India and State Government is
75 : 26

(3) Covers BPL families of

‘ unorganized workers

(4) Total sum insured is ¥ 3,00,000
per family per annum

31. The Karnataka Panchayat Raj Act
1993 received the assent of the
Governor on
(1) 2" April 1993
(2) 30 April 1993
(3) 31%* March 1992
(4) 27" December 1992

32. Which of the following stages of
reforms for APMC Act is relevant for
Karnataka’s agricultural marketing ?
(1) Reforms have already been done

for direct marketing, contract
farming and markets in
private/co-operative sectors

(2) Reforms have been done partially

(3) The Act already provides for the
reforms

(4) Administrative actions have been
initiated for the reforms

125-XPP-BOAA

33.

34.

35.

(13-A)

A rolling plan in Karnataka that
provides a perspective of the fiscal
situation and measures the actual
performance against the fiscal
targets over a 5 year period is called

(1) Performance Budget
(2) Medium Term Fiscal Plan
(3) Mid-term Fiscal Plan

(4) Mid-term Plan Appraisal

As on 1% April 2011, the Medium
Term Fiscal Plan of Government of
Karnataka was prepared by the

(1) Planning Department for the

period 2010 — 14

(2) Directorate of Economics and

Statistics for the period 2009 — 12

(3) Finance Department for the

period 2011 — 15

(4) State Planning Board for the

period 2012 - 16

One of the objectives of Suvarna
Gramodaya Yojane in Karnataka is
to create jobs for unemployed in

(1)

dry land area

(2) rain fed area

(3) irrigated area

(4) non-agriculture area
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36. According to the Census of India |38.
2011, the provisional population total
of Karnataka is
(1) 61-13 million persons with 49-19
per cent females
(2) 71-13 million persons with 51-81
per cent males
(3) 51:13 million persons with 39:19
per cent females 39.
(4) 81:13 million persons with 61-81
per cent males
37. Backward Region Grant Fund
(BRGF) is a programme for the
development of backward districts in
India. In Karnataka the programme
covers the districts of 40.
a. Bidar and Gulbarga
b. Raichur and Chitradurga
¢. Chamarajnagar and Bijapur
d. Davangere
Which of the above statements are
correct ?
(1) aandb
(2) a,candd
(3) a,bandd
(4) a,b and c
125-XPP-BOAA (156-A)

Which of the following cities 18
covered under Basic Services for
Urban Poor (BSUP) — a component of
JNNURM ?

(1) Mysore
(2) Mangalore
(3) Shimoga

(4) Hubli

Ganga Kalyan Scheme is

implemented by

(1) Dept. of Minor Irrigation

(2) Dept. of Social Welfare

(3) Dr. Ambedkar Development
Corporation

(4) Backward Classes Welfare
Department

Total sanitation campaign is a

programme to promote rural hygiene

and clean environment in the

villages. Consider the following

statements about the programme :
a. It is community led.

b. It is people centred.

c. It is demand driven.

d. 100% cost as subsidy.

Which of the above statements are
correct ?

(1) aandb
(2) b,candd
(3) a,bandc
(4) bandd
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(1) asdHb

(2) asHzyd

(8) b,cadzyd

(4) a,b,caHByd

125-XPP-BOAA (16-A)




41, Read the passage given below and answer the following question :

A large deceleration, during a car crash is dangerous, even if it lasts for a short
time. Airbags are designed to decrease the magnitude of the deceleration. Before
the airbag inflates, the driver continues forward at constant speed. But once the
airbag inflates, the driver decelerates gradually, instead of getting thrown into the
steering wheel. Three different airbags of the same size and shape were tested
using three identical dummies. Velocity — time graph was plotted for each dummy,
when the car crashed at 40 ms ! into a wall. The following results were noticed. .

v (ms-1) v (ms-1) v (ms-1)
F 9 'S
O 0T 08 0B UL 0E W0 01 68 08 04 08 U8 0 oh 0z 08 04 05 Hs)
Air bag 1 Air bag 2 Air bag 3

The best airbag is the one for which maximum instantaneous acceleration Iamax| is
as small as possible. Which airbag is the best ?

(1) Air bag 1
(2) Air bag 2
(3) Air bag 3
(4) Can’t say
42. A satellite in a geostationary orbit appears stationary, always at the same point
in the sky, to ground observers. A perfect stable geostationary orbit is an ideal

that can only be approximated. In practice the satellite drifts out of this orbit®
because of perturbations such as the

a. Solar wind.

b. Radiation pressure.

c. Variations in the Earth’s gravitational field.
d. Gravitational effect of the Moon and the Sun.
Which of the above are correct ?

(1) aand b

(2) aandd

(3) b,candd

(4) a, b, c and d

125-XPP-BOAA (17-A)
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43.

44,

125-XPP-BOAA

Consider the following :
a. Oxides of Hydrogen
b. Oxides of Nitrogen
c. Oxides of Sulphur

Which of the above causes/cause acid
rain ?

(1) aand b
(2) c only
(3) bandc

(4) a, b and ¢

Consider the following statements in
respect of a jet engine and a rocket :

a. A jet engine uses the sufrounding
air for its oxygen supply and so is
unsuitable for motion in space.

b. A rocket carries its own supply of
oxygen in the gas form, and fuel.

Which of the statements given above
is/are correct ?

(1) a only
(2) b only
(3) Both a and b

(4) Neither a nor b

45.

46.

(19-A)

Which one of the following laser ©
types is used in a laser printer ?

(1) Dye laser
(2) Gas laser
(3) Semiconductor laser

(4) Excimer laser

Consider the following Assertion and
Reason statements :

Assertion (A) : In the visible
spectrum of light,
red light is more .
energetic than green
light.

Reason (R) : The wavelength of
red light is more
than that of green
light.

Choose the correct alternative from
the statements given below.

(1) Assertion A and Reason R are
true but R is
for A

not the reason

(2) A and R are true, R is the correct
reason for A

(3) A is false, R is true

(4) A and R are both false
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47.

48.

125-XPP-BOAA

Match the following columns :

Instrument %

A. Anemometer 1. Measurement
under water
depth using
ultrasound

B. Aneroid 2. Measure very

Barometer small
distances

C. Micrometer 3. Measure
wind speed

D. Fathometer 4. Find wind
direction

5. Measure
atmospheric
pressure

Choose the correct alternative :

A B C D

(1) 4 3 1
(2) 3 5 2 1
(3) 5 1 3 4
(4) 3 i 5 2

Polymer used to make bullet-proof
material is made of

(1) Polyamide
(2) Polythene
(3) Polycarbonates

(4) Polyvinylchloride

49.

50.

51.

52.

(21-A)

PSLV-C16 successfully launched
three satellites in April 2011 from
Sriharikota. They are

(1) Resource Sat-2, YouthSat and
X-Sat

GSat-8, Jugnu and SRMSat
GSat-8, YouthSat and Jugnu

Resource Sat-2, Jugnu and
SRMSat

(2)
(3)
(4)

The asteroid belt in the solar system
occupies the orbit between

(1) Mars and Jupiter
(2) Mars and Earth
(3) Earth and Venus
(4) dJupiter and Saturn

The variety of coal containing the
maximum percentage of carbon is

(1) Lignite

(2) Bituminous
(3) Anthracite
(4) Peat

A Router is a device that

(1) forwards a packet to all outgoing
links

forwards a packet to all outgoing
links, except the link upon which
the packet originated

(2)

(3) determines on which outgoing

link a packet is to be forwarded

(4) forwards a packet to the next

free outgoing link
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53.

54.

55.

56.
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Eutrophication results in

(1) reduction in COy concentration in

the atmosphere

(2) increase in green house gases in

the atmosphere

(3) decrease in dissolved 02 in water

bodies
(4) increase in nutrients in the soil
Southern blotting is
(1) a technique used in ELISA

(2) a technique
fingerprinting

(3) a technique
sampling

used in DNA

used in blood

(4) a technique in micro cultures

Central and corresponding State
organizations are concerned with
specific aspects of water resource
management. Central Water
Commission deals with

(1) Water quality
(2) Watershed management
(3) Surface water
(4) Water use for agriculture

The interaction in which one species
causes harm to another, without
itself being affected is

(1) Commensalism
(2) Amensalism
(3) Neutralism

(4) Mutualism

67.

58.

60.

(23—A)

The formation of ozone in the
immediate surrounding atmosphere
results due to in the
atmosphere.

(1) Benzene
(2) Methane
(3) Nitrous oxide
(4) Sulphur

Refined oils extracted from livers of
cods and sharks are rich in

(1) Vitamins C and E
(2) Vitamins A and D
(8) Folic acid

(4) Vitamin B complex

Cold smoking is
(1)
(2)

Method of preservation of fish

Emission of smoke from the

glaciers
(3)
(4)

Filling smoke for cold storage

Technique wused in

sperms

freezing

The group of organisms that are
capable of converting solar energy
into chemical energy is

(1) Autotrophs

(2) Carnivores

(3) Saprophytes

(4) Heterotrophs
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61. Biogas is a mixture of
(1) Methane and carbon dioxide
(2) Methane and carbon monoxide
(3) Methane and nitrogen
(4) Methane and nitrous oxide
62. Pollution-related decay of the Taj
Mahal is due to
(1) Smoke
(2) Smog
(3) Automobile Exhausts
(4) Petroleum Refinery Generated
Products
63. Black buck in India is protected by
(1) Bhils
(2) Bishnois
(3) Phasis
(4) All tribals
125-XPP-BOAA

64.

65.

(256-A)

Estuaries and coastal wetlands are
important for all of the following
reasons except

(1) Spawning and nursery grounds
for marine fish and shellfish

out waterborne

(2) Filtering
pollutants from swimming and
wildlife areas

(3) Breeding grounds for waterfowl

(4) Providing coral for limestone

production and the tourist trade

Which of the following situations is
consistent with “The World is Green”

hypothesis ?

(1) Caterpillars starve because all
their food plants have died

(2) Herbivorous grasshoppers are
killed by bird predators

(3) Corn plants are eaten by
European corn borer larvae

(4) A mild winter improves the
survival rate of gall forming
insects
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(1) Sarcoptes scabiei
(2) Aedes aegypti
(3) Wuchereria bancrofti

(4) Cimex lectularius
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(2) a b =W,
(3) ¢ d B,
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a.
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(4) SFOTTR, HYETOWS Tob

(2)

(3)
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Which one of the following organisms
transmits dengue virus ?

(1) Sarcoptes scabiei

(2) Aedes aegypti

(8) Wuchereria bancrofti

(4) Cimex lectularius

Albendazole and diethylcarbamazine
are mass-distributed in the endemic

Karnataka for the
prevention of which of the following

regions  of

diseases ?

(1) Filariasis

(2) Malaria

(3) Typhoid

(4) Tuberculosis

A blood group has both A and B
antigens but no antibodies. The blood

group is
(1) A
(2) O
(3) AB

(4) B

69. Read the

(27-A)

following statements
regarding marijuana, Kkief, hashish
and hash oil :

a. Narcotics are all derived from the
plant Cannabis.

b. All Narcotics are not derived from
Cannabis.

c. Abuse causes psychosocial and
economic problems.

damage
unauthorised

d. They are addictive,
health and
possession is a crime.

Which of the above cited statements

‘is/are true ?

(1) b only
(2) a and b only
(3) c and d only

(4) a, c and d only

Haemodialysis is a process of

(1) purification of blood by removing
toxins, drugs or other wastes and
maintaining fluid balance

(2) purification of urine by removing
chemicals

(3) purification of blood
removing salts

cells by

(4) purification of bile juice
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Directions : (Q. No. 71 to 76). Read
the three passages given below and
answer the six questions that follow
based on the information given in the

passages.

Passage - 1

In any given market segment a
market = share is

the

competitor’s

dependent  on customers’
perceptions. Higher market share in
a segment reflects a firm’s leadership
in that particular segment. It is
necessary to note that the market
share of any competitor is always to
be measured in the served market.
For example, a consumer durables
manufacturer may market its
products in all regions other than the
east. Its market share will have to be
examined in all zones other than the
eastern region. Likewise  this
company may be serving only the
major cities in these regions.
Therefore market share will need to
be assessed in these cities only.
Hence, a statement like the firm
enjoys 40 per cent market share is

meaningless.

71.

72-

(29-A)

the
of a

According to the
measure of market
company depends on

(1)

passage,
share

how many cities a particular
product is sold in

(2) the number of people living in
cities
(3)

the way in which competition is
calculated

what the customers think about
the company’s products

(4)

The word °‘served market’ in the

passage most nearly means

(1) market that offers various
services

market for consumer durables

(2)

(3) area where a particular product

is marketed

(4) cities that have big market

Passage - 2

Privatisation of water distribution
could become a reality soon across
the country. The Centre’s new water
policy calls for privatization of water
services and stresses the need to
price water in a way that will enable
the government to fully recover costs
of managing water resource projects.
Privatisation of water was also the
focus of discussion at the recent
government-backed World Water
Summit in Bangalore. Privatisation
of water has been tried in several
wards in cities like Delhi, Mysore,
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Belgaum, etc. Authorities here have
claimed the experiment to be a
success. Residents and activists
disagree. Tariffs on water increased
dramatically and supply of water to
those who could not pay i.e. the poor,
was shut off. There have been
instances of the poor turning to water
known to be severely polluted,
resulting 1n of Kkiller
epidemics. Privatisation has thus far

led to deterioration of public health.

outbreaks

. Hiking water tariffs could trigger

riots too as it did in Bolivia.

Which of the following statements
does the passage strongly suggest ?

a. Privatisation of water resources is
profitable.

b. Governments cannot supply water
to all.

¢. Privatisation will benefit only the
affluent class.

d. Privatisation as a policy is

discriminatory.
Choose the correct answer :

(1) aandc
(2) aand d
(3) b,candd

(4) cand d

(381-A)

74, Large scale epidemics could result

because

(1) of the bad quality of water
supplied

(2) the high cost will force poor people

to consume contaminated water

(3) the authorities have neglected
public health issues

(4) None of the above

Passage - 3

One of the hallmarks of India’s
urban landscape is the chaos. Some
would say it is due to our
humongous population, over 1.2
billion strong. India accounts for 17-5
percent of the world’s population
crammed into 2-4 percent of the
world’s land area. Think of the classic
experiment with more and more rats
being introduced into a cage. Pretty
soon, the shortage of turnaround
space starts getting to the caged

rodents and mayhem follows.

Others would ascribe the chaos to

our diversity. The Wikipedia states
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that only the continent of Africa

exceeds the linguistic, genetic,

religious and cultural diversity of

India.

perhaps, squelch this diversity from

Now, a dictatorship could,
going haywire. But, with the free
democracy we have given ourselves,
internecine  battles among the
various diverse groups do tend to get

out of hand.

However, there is another cause
which

probably because it glances off our

rarely gets mentioned,
armour of self-righteousness. That is
the trait of most Indians to cock a
snook at rules and regulations, if
they can get away with it. This habit
has become ingrained in all varieties
of our countrymen, young and old,
rich and poor, leftist and capitalist,
villager and urbanite, fundamentalist
atheist, and

and northerner

southerner, commoner and VVIP,
illiterates and PhDs — in fact, all

- shades of this country.

75. The passage suggests that chaos in

76.

(33-A)

Indian cities is generally attributed
to which of the following ?

a. The uncontrolled population.
b. Lack of regard for law.

c. Internal squabbles among people
of different denominations.

d. India’s diversity.

Select the correct answer from the
options given below :

(1) a,bandc
(2) a,bandd
(3) b,cand d

(4) aandb

What, according to the author, is a
common characteristic found in all
Indians ?

(1) To demand for dictatorship

The

turnaround space

(2) need to demand for

(3) The opportunistic disregard for

law
(4) To wear an armour of
self-righteousness
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Study the following information and
answer the given question :

(i) Six friends A, B, C, D, E and F
are seated in a circle facing the
centre.

(ii) F is between A and B.

(iii) C is between E and B.

(iv) E is not between D and C.

(v) D is second to the left of C.

Who is between A and C ?

(1) B

(2) E

(3) D

(4) F

In the following figure, circle
represents those selected for IAS,
square represents those selected for

IPS and triangle represents
postgraduates.

The different regions have been
marked 1, 2, 3, 4, 5,6, 7,8 and 9. On
the basis of these numbers, select the
correct answer for “Postgraduates
who are selected for IAS”.

(1) 2
(2) 3
(3) 5
(4) 4

(35-A)

Which of the four conclusions follow
from the given statements ?

Statements :

All Professors are wise people.

All wise people are Doctorate

Holders.

Conclusions :

a. All Professors are Doctorate
Holders.

b. All Doctorate Holders are wise
people.

c. Al Doctorate  Holders are
Professors.

d. Some Doctorate Holders are
Professors.

Select the correct answer from the
options given below :

(1) Only a and d follow
(2) Only c follows
(3) Only b and d follow
(4) Only d follows

If Sunday, Monday and Tuesday are
renamed as Tuesday, Thursday and

Saturday respectively, then

Wednesday must be renamed as

(1) Monday
(2) Sunday
(3) Tuesday
(4) Friday



81.

82.

83.

125-XPP-BOAA

(3)

DI QoeOTT  BeITR)  wmoHt
Be3I,08 20% VNS DF) zod*
SeTTRY o DowOTT SeBI8,08 20%
FRDHANE. &I SIS, Becdrwd
QTR BeT oy ?

(1) B

(2) 4% wo7
(3) 40% woHF
(4) 4% gad

8  dWPor uImYTE  Wano3T
BHEBNY Toad, dy ?

5
AR T
sl i
(1) 33
(2) 36

32
28

(4)

womd TJYHTQ, TBo3eL)\0n FIFHE,

LOWY TEH® Toch WP WY RENTTYT.
3

& w30 & O&X) THod TP oD,

1a oR) ®od wWaw RedAFS dedm
25

P VIO TP W WK ATESR,
BeamzT ?

(1) 16
(2) 156
(3) 18

(4) 20

84. \/6+,/6+\/6+...m QDT m’ae)@

85.

86.

(36-A)

(1) 6
(2) 3
(3) -2
(4) o

VO 2,000 SR 0D tomd FYMor
4 Motlon oW, AR
SQU0om B BRLoDYT  deoRy,
8 Mo3n¥® and IPEWEBIE. [BTER
SQnYsy wEmord Idaud D),
Moty SoZT Bnt 38EoIPATHZE ?
(1) 4 rotdren

(2) 6 ro&3red

(3) 8 motdmed

(4) 10 rot3rish

W) O3, TEOOIN @3 FAr X 56 e

QT 60 B2 ws,0ke0dR T d2r

T 41 S aodw aspoem 5T 40 32
3,008 WO, Cph
DRABVIW) BT ees 20%
DRITE OV BT evged. SeAGT,
30E B wiod | Iun Q) 3
QTSH ?

(1) T 55

(2) 60

(3) T 58

(4) T 62



81.

82.

83.

125-XPP-BOAA

Vikram’s salary is 20% more than
that of Ajay and Ajay’s salary is 20%
less than that of Datta. Then,
Vikram’s salary in comparison to
Datta’s salary is

(1) equal

(2) 4% more
(3)
(4) 4% less

40% more

The number of parallelograms in the
following figure is

AT o L
il SR
ARV

(1) 33
(2) 36
(3) 32
(4) 28

In a town every person takes at least
one cup of coffee or tea. If gth of
the population takes coffee, %th of
the population takes tea, then the
percentage of the population which

takes both coffee and tea is

(1) 16
(2) 15
(3) 18
(4) 20

84.

85.

86.

(37-A)

The value of \/a- \/6 +,6+ .00 i8

(1) 6 Y
2) "3
8y =2

(4) o

A cistern can be filled by a tap in
4 hours while it can be emptied by
another tap in 8 hours. If both the
taps are opened simultaneously, then
after how much time will the cistern
get filled ?

(1) 4 hours
(2) 6 hours
(3) 8 hours

(4) 10 hours

A rice trader mixes 60 kg of one
variety of rice costing ¥ 56 per kg
with 40 kg of another variety of rice
costing ¥ 41 per kg. In order to get a
profit of 20% on the investment, the
selling price of this mixture, per kg,
must be

(1) ¥ 55
(2) ¥ 60
(3) T 58
(4) X 62
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The following figure shows a
rectangular plot ABCD, which
encloses a rectangular garden PQRS
with a pathway of 5 ft width
around it. The area of ABCD is 5200
sq. ft and that of PQRS is 3850 sq.
ft. The cost of fencing the plot ABCD
at the rate of ¥ 50 per foot, in X, is

D C

T
5 ft

< 5 ft > < 5 ft >

i
5 ft
¥

A B
(1) 13,500

(2) 12,500

(3) 14,000

(4) 14,500

Mr. Tulasiram borrows ¥ 12,000 at
the rate of 10% per annum simple
interest and immediately invests it
for compounding at the same rate.
The profit obtained by him at the
end of the third year, in X, is

(1) 372
(2) 382
(3) 362

(4) 392

(39-A)

89.

90.

91.

The averagé score of a batsman in a
certain number of matches is 43. By
scoring 50 runs in the next match
his average improves to 44. The
number of runs he has to score in
the next match to further improve
his average to 45 is

(1) 54

(2) 51

(3) 52

(4) 56

When a number is divided by 248,
the remainder obtained is 131. When
the same number is divided by 31,
the remainder obtained is

(107

(2) 21

(3) 28

(4) 14

You have arrested an influential
politician who is also a local goon, as
the police incharge of the area. But
this had led to widespread protests
with his supporters — who include a
lot of people from the ruling political
party taking to the streets and
indulging in violence. You would

(1) initiate strong action against
. whoever is taking the law into
their own hands.

(2) ask for your senior’s guidance on

how to handle the matter.
threaten the politician with

sterner action and ask him to
make his supporters cool down.

(3)

(4) release the politician with a stern
warning to mend his ways — two
days in the lock up has already
achieved your objective of giving

a strong shock to him.
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92. As an investigative officer for drug

control you have caught an old
woman smuggling drugs at the
international border. She pleads
guilty but however pleads for mercy
saying that she is not a user and
had to do it only because her son
had run up unmanageable debts and
her family had no recourse but to do
this. In your subsequent
investigation her story turned out to

be true. You would

(1) leave the lady with a stern
warning.

(2) confiscate the drugs and allow the
lady to walk free with a stern
warning.

(3) arrest the woman and interrogate
her for finding out the drug chain
she is a part of so that you can go
after the bigger culprits.

(4) arrest the woman and submit her
case to your superiors with details
of her previous track record.

(41-A)

93. You are the head of an office where

one of your senior employees is
playing truant. His attendance is
irregular. He comes late to office and
his work performance is below par.
On investigation you find out that he
had ambition to become the head of
the office before you got the post and
that is the reason that he is
adopting a non-cooperative attitude.

You would

(1) initiate harsh disciplinary
proceedings and recommend his
suspension for anti organisational
activities.

(2) sit down with him and make him
see reason — and talk to him in a
constructive manner in order to
help him get over his hurt.

(3) recommend his immediate

transfer from your department.

(4) ask him to take your post and
apply for a transfer from the post
— because you feel that he
deserves the post more than you
since he is senior.
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94, The following pie diagram relates to

the cost of construction of a house on
different items in Bangalore city :

. -

| =
IIE Il == Il =

Total cost for construction is T 72
lakhs.

What percentage of amount spent is
more for cement as compared to the
amount spent on bricks and stones ?
(1) 90%

(2) 70%

(3) 60-5%

(4) 80:5%

95.

(43-A)

The the
attitude scores (X) for a sample of

following data provides

40 students. A high score indicates a
attitude
indicates a negative attitude.

positive and low score
X:

68 22 09 73 62 52 14 46 27 60
31 26 74 61 13 05 18 53 79 58
16 62 07 55 61 12 77 43 30 68

23 11 54 70 40 78 10 60 32 55

Which of the following descriptions
best fits these data ?

(1) This group has
positive attitude

a generally

(2) This group has

negative attitude

a generally

(3) This group has sharp split with

attitude of both extremes

(4) No clearcut trend exists
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96. Given below is a graph on crime against women for the years 2010 and 2011.
Indicate for which particular crime the percentage increase was maximum ?

(1)
(2)
(3)
(4)

1009 4 ] 2010
90
804 B 2011
T 70
60 56
g
7 50 44
e 35
30
20 18
10
0 I I
Assault Murder Rape Dowry
Death
Rape
Assault
Murder

Dowry death

97. The average age of P, Q, R and S is
30 years. How old is R ?

I:

;3

Select the correct answer from the
options given below :

(1)

(2)

(3)

(4)

125-XPP-BOAA

The sum of ages of P and
R = 60 years.

S is 10 years younger than R.

Statement I alone is sufficient to
answer the question

Statement II alone is sufficient to
answer the question

Statement I or statement II alone
is sufficient to answer the
question

Data in statements I and II are
not sufficient to answer the

question

98.

(46-A)

The following data relate to the
monthly incomes of 125 families in a
locality :

Income (in %) No. of families
2000 — 4999 23
5000 — 7999 37
8000 — 10999 55
11000 - 13999 10

What percentage of families are
earning more than ¥ 7999 ?
(1) 50%

(2) 62%
(3) 54%
(4) 55%
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Directions : (Q. Nos. 99 and 100). A Grama Panchayat has published the
following report for the year 2007 — 08 with reference to categorywise
representation in its population.

Index :

15 [ ] Male
B Female

Percentage of the population

3_

2_..

1

07 5c T sr |

In the light of the given information answer the following questions :

Cat-1 'CatII A’ CatIIB CatIII A'Cat III B' General
Category

99. Excluding the general category, the |100. Categories exhibiting highest
only other categories having a sex disparity among male and female
ratio of 1 : 1 is populations are
(1) SC and ST (1) SC and ST
(2) IIAand III B (2) II A and IIT B
(3) II B and III A (3) MAand II B
(4) IITA and III B (4) ST and Cat-I

125-XPP-BOAA (47-A)
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